Pyramids While on a search for gold in the Giza Pyramids, an engineer discovered a piece of a circular gold bowl. To calculate the actual area of the bowl, the engineer used a coordinate plane and plotted three points. Use these points to come up with an idea to figure out the area of the bowl. (Each unit in the coordinate plane represents 1 inch.)
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Using the Distance and Midpoint Formulas in Real Life

ARCHEOLOGY While on an archeological dig, you
discover a piece of a broken dish. To estimate the
original diameter of the dish, you lay the piece on a
coordinate plane and mark three points on the
circular edge, as shown. Use these points to find the
diameter of the dish. (Each unit in the coordinate
plane represents 1 inch.)

SOLUTION

Use the method illustrated in Example 4 to find the
perpendicular bisectors of AO and OB.

y=2x+5 Perpendicular bisector of A0
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v = —>xy 4+ — Pernendicular hisector of 0B
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When a car makes a fast, sharp turn, an accident reconstructionist can use the car’s skid mark to determine its speed.  The equation 
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 gives the car’s speed v (in meters per second) as a function of the radius r of the circle (in meters) along which the car was traveling. The constant a (measured in meters per second squared) varies depending on road conditions. Find the radius of the skid mark shown below.  Then use the given equation and 9.25 for a to find how fast the car was going.
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EXAMPLE 385
The diagram below shows one exterior wall of a house. The wall has a door opening that
‘measures 3 feet by 7 feet, and two window openings that each measure 6 feet by 4 feet.
The wall, but not the openings, will be covered with siding material that costs $1.50 per
square foot. Find the total cost of the siding material.

!

6
feet
8
feet
- 24 leet >
A, $400.50 B.$292.50 C.$499.50  D.$333.00
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